K0338_A

ECI2E B A O.I0] 9= 28 |2 LH|Q A Q1HA SR

B
3

=5 MY/MIE o0l x|
My
HE MY ) )
QEA ZHXME SH o= QI £2 x| H3tE W X|5H7| I5H At
SE Lt
o€ E0{ 7|A|, x|, 717 L S AF M=xo| Zo| X =0| HF EE
2Ix| ZZ 0| olof| S ELICt.
HX EEE £82Z E0{0t0HCIE &2 /X2 0|5 E = JU&LICt
THAIZE EB4 o £ 2 Elo| W ﬁEEo'% #X|5H7| SHME CE E=
DY 2 AHS3HOF ELiCt
MEE MEE REAGH T 277t 7HE =2 88 208 X &5t
Of CIYst B2 AL E £ Ql&LICH
THE!:
2B HT:

LA g2lE 2 &3 E
5 A2 1.4310.

Ll

HAf

o}

AE|QIEIA A T A2
LIAF &£21E 1.4305.
= E 43t 1.4034.

= Elo| A3tElX| 2fS 1.4305.
ot= AX 21,4310

AEIQIZ|A AR T A4:

LIAL &2l 2 &2 El 1.4404.
o= A2l 14401 EE= 1.4571.

HAE I8 Qrtad E3M E= S S WA RAL3020.

EM OIF2:

2B HT:

LA €215, A &8t ™

Ast 7'(-|E|, Aol L A™ MSF XM2|E B F E

AEIQIFA AE! T A2:
LIA} 2|2 B ZEd 2]
&= ' Fs £ FstElX| S, oot & 20 ZEH X2

AMIME:
£H0|M & K0665

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/4



ECI2E B A O.I0] 9= 28 |2 LH|Q A Q1HA SR

=N
D2
|
A :
ol SWi
~J
~ ]
T~
] NG
[ w
\
\ 9!
i [}
-0,02
D-0,04 . .
D1
=29
FEHS E 2 xH& A EH THE AMA D D1 D2 L L1L2L3 AE SW1 Fx A[E ERM
2l Bl 7 72 a5 23 30° EH BB
S F1 F2
oF N 9N
K0338.1903 A AE - FZED Z43[M RAL 7021 3 M6x0,751431,512510 3,5 8 08 45 10
K0338.1004 A AE - A3t AS|M RAL7021 4 M8x1 1838515613 4 10 1 6 12
K0338.1105 A A - a5t ZAS|M RAL7021 5 M10x1 2143517715 5 13 1,3 5 12
K0338.1206 A AE - A&t Z43|M RAL 7021 6 M12x1,52551,720817 6 14 1,8 6 14
K0338.1308 A AE - dst 3| M RAL 7021 8 M16x1,533 68 261023 8 19 23 15 35
K0338.1410 A A8 - a5t Z3|M RAL 7021 10M20x1,533 74 281225 10 22 2.8 15 34
K0338.1412 A AE - Z&t Z43|M RAL 7021  12M20x1,533 78 281425 12 22 28 15 39
K0338.1516 A AE - a3t Z3|M RAL 7021 16 M24x2 40 96 321828 16 27 3,2 20 46
K0338.190384 A A - PEE A3 S whzh RAL 3020 3 M6x0,751431,512510 3,5 8 08 45 10
K0338.100484 A AE - A3t AE 5wz RAL3020 4 M8x1 1838,5156 13 4 10 1 6 12
K0338.110584 A AEl - PEL AMSE wZRAL 3020 5 M10x1 2143517715 5 13 1,3 5 12
K0338.120684 A A - PEE A3 S Wz RAL 3020 6 M12x1,52551,7208 17 6 14 1,8 6 14
K0338.130884 A AE - a3t LS5 #ZH RAL 3020 8 M16x1,533 68 261023 8 19 23 15 35
K0338.141084 A AE - a3t A5 S whZh RAL 3020 10M20x1,533 74 281225 10 22 28 15 34
K0338.141284 A AE - PEE A3 S Wz RAL 302012M20x1,533 78 281425 12 22 28 15 39
K0338.151684 A AE - A3t {355 Wzt RAL 302016 M24x2 40 96 321828 16 27 3.2 20 46
K0338.01903 A AE|Ql 1.4034 A3t Z3E|M RAL 7021 3 M6x0,751431,512510 3,5 8 0,8 45 10
BA AE]
K0338.01004 A AE|Q! 1.4034 A3t AS|M RAL7021 4 M8x1 1838515613 4 10 1 6 12
BlA AE
K0338.01105 A EN=T 1.4034 dst HE|M RAL7021 5 M10x1 2143517715 5 13 1,3 5 12
oA AE
K0338.01206 A EN=T 1.4034 A3t Z43|M RAL 7021 6 M12x1,52551,720817 6 14 1,8 6 14
oA AE
K0338.01308 A lﬁEilo._l | 1.4034 a5t 43| RAL 7021 8 M16x1,533 68 261023 8 19 23 15 35
oA AE
K0338.01410 A AH|QI 1.4034 45t Z43|M RAL 7021 10M20x1,533 74 281225 10 22 28 15 34
A AE
K0338.01412 A EN=T 1.4034 A3t Z3E|M RAL 7021 12M20x1,533 78 281425 12 22 28 15 39
A AE
K0338.01516 A AE|Ql 1.4034 a3t Zd3|M RAL 7021 16 M24x2 40 96 321828 16 27 3,2 20 46
BA AE

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  2/4



K0338_A

SetAE HAE ORl0] U= 28 =2 AH|QIA QIEA SE X
ES Y
FEMS E =A A& P xH SLAE AA D D1 D2 L L1L2L3 £2E SW1 Fx A& EfM
&l 27 723 23 30° Bt BE
K0338.0190384 A aff“/o'\_lg 1.4034 PZES 5 WZ RAL 3020 3 M6x0,751431,512510 35 8 08 45 10
K0338.0100484 A Ef:al:ﬂ% 1.4034 A3t AES W7 RAL 3020 4 M8x1 1838515613 4 10 1 6 12
K0338.0110584 A gf:E“E‘lsu 1.4034 33t 55 WZ RAL3020 5 M10x1 2143517715 5 13 1,3 5 12
K0338.0120684 A Ef:E“E‘l: 1.4034 33t 35 #Z RAL 3020 6 M12x1,52551,7208 17 6 14 18 6 14
K0338.0130884 A Ef:EﬂE_I: 1.4034 A3t %5 #Z RAL 3020 8 M16x1,533 68 261023 8 19 23 15 35
K0338.0141084 A Ef:EﬂZﬂ: 1.4034 Z3 %5 ¥Z RAL 302010M20x1,533 74 281225 10 22 28 15 34
K0338.0141284 A af:EEﬂ: 1.4034 PEE 5 WZ RAL 302012M20x1,533 78 281425 12 22 28 15 39
K0338.0151684 A gf:al:ﬂa: 1.4034 PEE A5 5 Wz RAL 302016 M24x2 40 96 321828 16 27 32 20 46
K0338.11903 A Ef:EﬂIO_IEI 14305 H|ZS 74%|M RAL 7021 3 M6x0,751431,512510 35 8 08 4,5 10
K0338.11004 A Ef:E“E‘l: 14305 H|Zst 3| RAL7021 4 M8x1 1838515613 4 10 1 6 12
K0338.11105 A Ef:EﬂE_': 14305 H|ES 3| RAL7021 5 M10x1 2143,517715 5 13 13 5 12
K0338.11206 A Ef:EﬂZﬂ: 14305 H|ES 73| RAL 7021 6 M12x1,52551,720817 6 14 1,8 6 14
K0338.11308 A Ef:EﬂI"_': 14305 H|AS Z3S|M RAL 7021 8 M16x1,533 68 261023 8 19 23 15 35
K0338.11410 A af%l:ﬂs: 14305  H|ZH3St Z3|M RAL 7021  10M20x1,533 74 281225 10 22 2.8 15 34
K0338.11412 A gf:E“E‘leu 14305  H|Z3%t Z3|M RAL 7021  12M20x1,533 78 281425 12 22 2.8 15 39
K0338.11516 A af:E“E‘l: 14305 H|Zs} 3| RAL 7021 16 M24x2 40 96 321828 16 27 32 20 46
K0338.1190384 A af:E“EJ: 1.4305 H|Zst 35 #Z RAL 3020 3 M6x0,751431,512510 35 8 08 45 10
K0338.1100484 A af}l:ﬂ: 1.4305 H|Zst 5 WZ RAL3020 4 M8x1 1838515613 4 10 1 6 12
K0338.1110584 A Ef:E“IO‘l: 14305 H|@s AES @®Z RAL3020 5 M10x1 2143517715 5 13 1,3 5 12
K0338.1120684 A Ef:E@E: 1.4305  H|H3F 35 WZ RAL 3020 6 M12x1,52551,7208 17 6 14 1,8 6 14
K0338.1130884 A Ef:E“E‘lau 14305 H|Z3 AlES @7 RAL 3020 8 M16x1,533 68 261023 8 19 23 15 35
K0338.1141084 A Ef:E“:"“': 14305 H|ZH3} 35 Wz RAL 302010M20x1,533 74 281225 10 22 28 15 34
K0338.1141284 A af:E“EJ: 1.4305 H|Zst 35 #Z RAL 302012M20x1,533 78 281425 12 22 28 15 39
K0338.1151684 A Ef:EﬂE_I: 1.4305 H|Zst 55 #Z RAL 302016 M24x2 40 96 321828 16 27 32 20 46
K0338.61903 A Ef:EﬂZﬂ: 1.4404 Iﬁl{% E 73| RAL 7021 3 M6x0,751431,512510 35 8 0,8 3 6,5
K0338.61004 A af}l:ﬂ: 1.4404 Lﬂl{%|§ 3| RAL7021 4 M8x1 1838,515613 4 10 1 7 15,5
K0338.61105 A Ef:E*E“'E: 1.4404 IE%% 3| RAL7021 5 M10x1 2143517715 5 13 13 4 12,5
K0338.61206 A Ef:E*':‘i'E. 1.4404 La%é Z3|M RAL 7021 6 M12x1,52551,720817 6 14 1.8 7 14,5
K0338.61308 A af:E“E‘l: 1.4404 Lal{%é Z3|M RAL 7021 8 M16x1,533 68 261023 8 19 23 15 35
K0338.61410 A Ef:EﬂE_I: 1.4404 Lal{%é 73| RAL 7021 10M20x1,533 74 281225 10 22 2,8 15 30
K0338.61412 A af;EEﬂ; 1.4404 Lal{%é Z3|M RAL 7021 12M20x1,533 78 281425 12 22 28 15 39
K0338.61516 A afflgg 1.4404 Lal{%é Z3|M RAL 7021 16 M24x2 40 96 321828 16 27 32 20 40
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  3/4



K0338_A

S2tAE B A ORl0] U= 28 =2 AH|QIE|A QA &K
E=E 9%
FE2Hs E =AM E P EH THEE M4 D D1 D2 L L1L2L3 AE SW1 Fx AR By
o 27 72 SA Esa 30° E;;g %FEI
OoF oF
K0338.6190384 A aff“/'\o_lg 1.4404 Lal{%: 45 S Wz RAL 3020 3 M6x0,751431,512510 3,5 8 08 _|:.>>N _E|s 3
K0338.6100484 A Ef:EﬂE_IEé 1.4404 LEIJ%I% 4SS Wz RAL 3020 4 M8x1 1838,515613 4 10 1 7 15,5
K0338.6110584 A Ef}lz'_la 1.4404 IEl{%lé 4SS Wz RAL3020 5 M10x1 2143,517715 5 13 13 4 12,5
K0338.6120684 A Ef:EﬂE_I: 1.4404 I—El{%é 4SS Wz RAL 3020 6 M12x1,52551,7208 17 6 14 1,8 7 14,5
K0338.6130884 A af:E“EJ: 1.4404 Lal{l%l é 45 S Wz RAL 3020 8 M16x1,533 68 261023 8 19 23 15 35
K0338.6141084 A Ef:EﬂE_I: 1.4404 Lal{%ll% A5 S Wz RAL 302010M20x1,533 74 281225 10 22 2,8 15 30
K0338.6141284 A Ef:EﬂE'_I: 1.4404 Lal{%é 45 S Wz RAL 302012M20x1,533 78 281425 12 22 2,8 15 39
K0338.6151684 A Ef:EﬂE_IE: 1.4404 IEI{% I% 4SS Wz RAL 302016 M24x2 40 96 321828 16 27 3,2 20 40
K0338.71903 A Ef:EﬂIO_IEI 1.4404 gt?:_j;:*l 3| M RAL 7021 3 M6x0,751431,512510 3,5 8 08 3 6,5
K0338.71004 A Ef:EﬂE_I: 1.4404 ﬂ;;._;’:i A3 RAL7021 4 M8x1 1838515613 4 10 1 7 15,5
K0338.71105 A Ef:EﬂE_l: 1.4404 étégi A3 RAL7021 5 M10x1 2143517715 5 13 1,3 4 12,5
K0338.71206 A Ef:EﬂE_l: 1.4404 ét;égi HA3|M RAL 7021 6 M12x1,52551,7208 17 6 14 1,8 7 14,5
K0338.71308 A Ef:EﬂE'_l: 1.4404 ;t;;._;gi A3 RAL 7021 8 M16x1,533 68 261023 8 19 23 15 35
K0338.71410 A Ef:EﬂE'_lE: 1.4404 Kt;;._;’;i ZAS|M RAL 7021 10M20x1,533 74 281225 10 22 28 15 30
K0338.71412 A gf:E“E_lEu 1.4404 gt;;._;g ZAS|M RAL 7021  12M20x1,533 78 281425 12 22 28 15 39
K0338.71516 A Ef:EﬂE_I: 1.4404 ﬂég ZAS|M RAL 7021 16 M24x2 40 96 321828 16 27 3,2 20 40
K0338.7190384 A Ef:EﬂE_l: 1.4404 ;t;;:;—*i 4= S Wz RAL 3020 3 M6x0,751431,512510 3,5 8 08 3 6,5
K0338.7100484 A Ef:E“EJ: 1.4404 ét;égi 4SS WZ RAL3020 4 M8x1 1838515613 4 10 1 7 15,5
K0338.7110584 A Ef:EﬂE'_I: 1.4404 ;t;;._;;—*i 4SS WZ RAL3020 5 M10x1 2143517715 5 13 1,3 4 12,5
K0338.7120684 A Ef:Eﬂ:O_'E: 1.4404 ét;;;;j A5 5 Wz RAL 3020 6 M12x1,52551,7208 17 6 14 18 7 14,5
K0338.7130884 A Ef:Eﬂ:"_'EI 1.4404 gt;;;;j A5 5 Wz RAL 3020 8 M16x1,533 68 261023 8 19 23 15 35
K0338.7141084 A af}@: 1.4404 gt;;._;gi 43S Wz RAL 302010M20x1,533 74 281225 10 22 28 15 30
K0338.7141284 A Ef:EﬂE_I: 1.4404 ;t;;._;’:i 4SS Wz RAL 302012M20x1,533 78 281425 12 22 2,8 15 39
K0338.7151684 A Ef;EﬂE_I; 1.4404 ﬁé;ﬁi 45 S Wz RAL 302016 M24x2 40 96 321828 16 27 3,2 20 40
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  4/4



